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Which one of the following statements about marketing research methodology Is Wrong

@ \nvestigation of existing secondary sources of information is known as the survey

. . I L K 1
method krswon <o ddgok seert 0 Tg _ Y s
5_  One of the methods usually used for obtaining market data is the survey method < ¥
%,  The personal method of questioning is usually the most time-consuming and
expensive method + .x:

4.  Secondary sources of information include internal reports, marketing literature or

articles in trade journals % s

Which of the following types of sales forecasting are used in practice?

a .- Estimates made by a panel of experts
b .- Estimates based on consumers’ reactions in test marketing situations
¢ — Estimates based on the results of the previous year
d « Estimates based on a combination of sales forecasting methods
-4 abc fy
@ abcd
3 abd
4 cd
5 bcd

Which of the following are individual factors in the decision-making process?

W(\Eclx‘ «\’C«,IL")" 1'75‘ («L}L /.f"' }_i‘ jj‘%, %.
a Reference group ° >
bv  Atftitude

cw  Perception
d«  Learning ability

Pororo) by winits

N

i eatie

1 ab
2 abd
3 cd
ey bcd
5 abcd
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The process of decision-making progresses systematically through different phases. Plac
these phases in the correct sequence.

a « Becoming aware of an unsatisfied need
by  Evaluating possible solutions
c » Seeking information on how to solve the problem
d ¢ Deciding on a course of action
e .  Doing post-purchase evaluation
W) acbde -
2 adchbe
3 adbce
4 bacde

Which one of the following is not a requirement for meaningfu! market segmentation?

D It should be possible to subdivide the total consumer market into heterogeneou
groups :

2v  The segments should be big enough to make profitable exploitation possible

3« It should be possible for marketing management to service its chosen segment

4 - It should be possible to compare segments with one another

Which of the following statements on target market selection are correcjtt?
|
a.- Theobjectives and rescurces of the business have io be Carefully}considered betor
a target market can be selected
b+ A market offering is developed for each target market chosen
c .. Target market selection can reach numerous individual target markets

d »~ A business does not own target markets

-

Y, *0S
1 ab 4
2 ad
3 acd
@ abcd
5 bcd

Which of the following statements on product offering, range and line are correct?

a A product offering consists of various product items
b . A product range consists of various product lines
c A product fine consists of various product ranges
i &7

), b

2 ac

& abc

4 bec
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The type of marketing message, price and choice cof distribution outlet, give symbolic value
to a product. This description refers to .....

J-xcom@

o

the product image
the tOtal prOdUCt e e PRI B o "IN R D .
the core product —= e teesd <o jesrme o foidea] g S tend el es

o -

the formal product = sfceiar reaporas swt s snle, Josioy o ooy & FESETTS

i

Which of the following actions would a consumer perform when buying speciality products?

a
b
c
d

™

ENERE

Insisting on a specific brand

Making the minimum of effort during the buying process
Collecting a good deal of product information before buying
Does not need to "shop around” to compare similar products

T 3D
1 bc )
2 ad
abd
acd

Which one of the following statements on packaging is wrong?

INIAENIE

Family packaging is not related to family brands " @5

Speciality packaging gives an image of exclusivity to a product

In family packaging, all the products in the range are more or less identically packed
Re-usable packaging leads to repeat purchases because consumers want the
containers

A very small profit is made on ..... products.

Mooy

i%;szf,::isz,

leader price )

skimming price -*

bait price e neiniend e Frices g V,,:a;—j'e?;ﬂ; el sesbiaed -

market price level ==~ -, .- prodosic meve b compele Sl sre mmaencr

Which one of the following statements on marketing communication is correct?

3@

Sponsoring a big sports event is considered {o be advertising

Billboards and posters are two popular methods of magazine advertising

Sales promotions like diaries, calendars and T-shirts, are usually aimed at
complementing other marketing communication efforts

Marketing communication is aimed solely at persuading customers to purchase the
product =g (C(\f.?méi,(ﬁmf}

By
(17 B
xi B
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Which of the following statements on the marketing concept are correct?

a. The first principle of the marketing concept is the maximisation of profitability
b  Maximisation of profits is the primary goal of marketing management

¢ - The primary goal of marketing management is the maximisation of sales
dv- Sales do not necessarily maximise profits
S A
1 abec E
2 ad
3 bc
4 cd

The principle of consumer orientation entails, among other things, that the enterprise ....

must provide the consumer with correct and sufficient information

must always try to satisfy all of the consumer's needs’

should satisfy the consumer only within the limits of the profit objective

should contribute to the welfare of the community in which the consumers live

QO oo

V5 B3
abec J
cd

bcd

ac

ESTRUNY

Which of the following statements are correct concerning the product’s life cycle?

a «. The sales curve ascends during the introductory phase

b .~ The profit curve rises later in the product development phase owing to the high cost
of new product development

c.  Costs must first be recovered before a profit can be made

d In the maturity phase, the sales curve declines sooner than the profit curve owing t
Competition P:ﬂ?.}.’;}’- CiadlC \:K,,,hﬁ; Smares  Weos Voo Sudel Cuiege,
1 ab
2 cd b o4
Ry abc
4 abcd
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Which of the following statements concerning the integrated marketing strategy in the

declining phaseare correct?

c Product decisions require modification of the existing product

MAY/JUNE 2004

MNB102-E

e e S L

A RO

b~  The target market should consist of conservative consumers who resist innovation

N R S LA e

d+  The product price should be reduced and the product offered on sales

1 ac
) bd

3 abec
4 abcd
5

cd

7.

Yo S

Which of the follbwing statements about marketing warfare are correct?

a~ Inthe struggle against competitors, marketing management uses the four marketing

instruments as weapons

b Marketing is not a civilized form of warfare

Cw Marketing warfare intensifies as the product proves successful in the market
d..  Acompetitor’'s entry to the market can be rendered difficult by patenting a successful

product

1 acg

2 bd

@ acgd
4 becd
5 abcd

Which of the following statements are correct?

In functional marketing planning

a

b

C

d e«
costs
J cd
2 abd
3 b ¢
4 abc

........

fer-

Wm0 dosp

a detailed marketing plan must be developed for the enterprise as a whole

the first part of the marketing plan does net form part of the planning process

the marketing plan involves determining the existence of opportunities and threats
the marketing department can contribute to profits by attempting to reduce marketing

[TURN OVER]
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of the following are tasks of the public relations department?

To create a positive image for the pubiic

To create a positive image for own employees

To communicate with suppliers to clear up misunderstandings
To communicate with the public to change negative perceptions

'] abcd
P abd
3 cd
4 bcd
5 ab

of the following statements on public relations are correct?

No functional restrictions apply to the public relationé function

actions
Public relations maximises profits in the short term

5y s
abec ¢
cd

ab

abcd

A

DGO POy

"o

'he manipulation phase
'he information phase
'he mutual influencing phase

he advertising phase

] ] oy

MNB10
MAY/JUNE 2(

Public relations interacts with the total internal and external environments
Through public relations a business should try to promote understanding of

one of the following is not a phase in the development of the public relatio

[TURN OVEF
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»wing are public relations objectives?

Promoting a positive image of the business

Bringing 3
groups
To ensuré
To prever

ab
ag
ad
bag
ahb

head of p

bout mutual esteem and understanding between the business and external

» the goodwill of external groups being obtained and preserved
1t the image of the business from being harmed

4‘1}

cd G ok

d
d

give coverage of a news release in a newspaper depends on the .....

ublic relations

newspaper editor

executive
reporter

manager

sde of conduct, which of the following points pertaining to ethical conduct
dered?

The general social norms and values of the community in which the organisation

operates

should provide the basis of the code of conduct

Management should ensure that employees adhere to the code of conduct at all

times
Employer

s should be held accountable for the behaviour of the employees

Vague generalisations about ethical conduct are meaningless

1 ab
2} abd
3 acd

4 be¢d

5 abcd

debit side u

palance

sheet

income statement

asset side

asset structure
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Which on

following

10

statement?

Net income (sales) less ..... is gross profit.

1 returns and cash discount

2 regerves

3 operating costs

4 interest

5) cost of goods sold

Which of the following options are correct?

Owners’ equity consists of .....

a shareholders’ interest
b ordinary share capital
c reserves
d undistributed profits
a bcd

2 abc

3 abcd

4 ab

5 cd

MNB102-E
MAY/JUNE 2004

e of the following options from the income statement correctly completes the

[TURN OVEF
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the 28 Calculate the total present value of the following cash flow amounts received at the end of
each year. The interest rate is 10%.
Year Cash flow
1 R3 000
2 R2 000
3 R5 000
: ‘Fvu'ivure v’.ﬁ’tu’e faCtOré S DfScduntEng factors
Periods (n) | 5% | 10% | 15% | | Periods(n)| 5% | 10% | 15%
1 1,0500 { 1,1000 | 1,1500 1 0,9524 | 0,9091 | 0,8696
2 1,1025 | 1,2100 | 1,3225 2 0,9070 | 0,8264 | 0,7561
3 1,1576 | 1,3310 | 1,5209 3 0,8638 { 0,7513 | 0,6575
4 1,2155 | 1,4641 | 1,7490 4 0,8227 | 0,6830 | 0,5718
5 1,2763 | 1,6105 | 2,0114 5 0,7835 | 0,6209 | 0,4972
1 R6 821
2 R7 409
3 R7 513
4 R8 990
5 R8 137
29  Which of the following statements on cost are correct?

ER]

av,,,

o )

C .+

Fixed costs are that portion of total costs that remain unchanged within the
boundaries of a fixed production capacity regardiess of an increase or decrease in

production

Variable|costs are that portion of the total costs that change according to a change
in the vglume produced
Variable costs per unit produced remain more or less constant irrespective of the

guantity |produced

The total costs involved in the production of a specific number of products produced
in a particular period consist of the total fixed costs and the variable costs per unit-
incurred|in the production of those products ‘

1 blcd
2 a/d
3 ac
@& abc
B abcd

i
G

%

i, “
MO v
ol g

[
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Which of the following statements on the time value of money are correct?

The higher the discount rate, the higher the present value of a given future ar
will be Fre e, 4
The discounting factor for a certain period and a given interest rate is (1 + i)"
The greater the risk, the greater should be the interest rate in both the compou,
and discounting factors should be

The time value of money is directly related to the opportunity rate of return

The greater the risk, the greater the need will be to receive incoming funds as qi
as possible

ac
bd

cde
ade
bcd

Identify the four C’s of credit.

r> -
b.
C
d

e v

Whiag

b
C e

Character Yﬁ wr
Capacity

Capital

Climate

Cost

@ abce

2 abcd
3 abde
4 acde
5 bcde

h of the following statements on the net present value method (NPV) are correc

Reject all independent projects with a positive NPV
Reject all independent projects with a negative NPV
Projects with NPV = 0 make no contribution to value and are usually rejected

1 abc
2 ab
3 ac
vy be
5 c

[TURN OV
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bwing statements on the profit objective when managing stock are correct?

iveisto.....

lowest possible supply of stock
stock turnover as high as possible

e keep as much stock as possible to ensure that the business is never without stock
;L&_,\A‘\« No! ensure that production interruptions never occur
T ab
2 ac
3 abc
4 abd
5 cd
34  Which of the follewing are uses of cash in a business?
a An increase in assets
b Dividend|payments to shareholders
c A decrease in liabilities
d Investmegnt income
1 b
2 apd
3 cd
b apc
5 apcd
35 A project is expected to yield the following cash inflows and outflows:
Year Inflows Ouiflows
1 RY 500 R6 000
2 Rb 700 R4 200
3 RH 100 R3 900

ERI

The initial cost
The current cog

of the projectis B3 600
t of capital is 10%

[TURN OVER]
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Which of the following calculations/statements of this project are correct? (Calculate tc

nearest R1.)

1
2
3
4

A choice must be made between two
provided on each project:

acd
ad
b
bcd

The total net cash inflow is R4 200

The NPV is R600

The total present value of the project is R3 506

The project must be rejected if the cost of capital is 10%

projects, A and B. The following informatic

Year | Project A | ProjectB
(i) Initial R22 000 R18 000
investment
(i) Annualnet |1 "] R10000 R3 000
cash 2 |7+ R80OCO R4 000 |
inflows: 32 1.7 R6000 R6 000
4 R4 000 R8 000
5 - R3 000 R10 000
R31 000 R31 000
(i)  The current cost of capital is 10%

[TURN O
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Project A
its life
Project A

project B’s

A choice

Project B
Project A
1 ag
2 ba
3 cda
4 akl
5 ag
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owing conclusions about projects A and B are wrong? (Calculate to the

is better than project B because project A has bigger cash inflows early in

is better than project B because its total present value is greater than

cannot be made between projects A and B because they both have the
same total net cash inflow of R31 000 '
is better than project A because project B has the greater NPV
has the smaller NPV and should be rejected

d

e
ce
cde

arket — e

secondary market
money market

capital market —» N-,Wf

RS

¥ wolgre

[N F S

- }; .(,‘ - h;jof NaY
J

is the market in which financial instruments of a short-term maturity are traded.

iy 2 T b
Yo RSB

owing statements on short term financing decisions are correct?

In the msnggk;jgg,,gp@go,ach temporary current assets are financed with long-term

funds =1

,,,,,,

short-term funds
In the aggressive approach the business decides to use more short-term financing
eded in the matching approach
In the conservative approach a portion of the temparary current assets requirement
d with long-term funds

than is ne

d
c

cd

Yine,

pe; siod

9 Dy
In the aggreésnve approach permanent current assets are partially financed thh

Ahadtl

‘;"‘ Ale 4G quux

witha e gdeded Do o e
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39 As a jsource of short-term funds, which of the following advantages does trade cre
provide? P a5
J
~a« |ltis readily available
b~ |ltisinformal
c It is 18¥lexible than other forms of short-term financing
d It does not require security
1 abcd
2 abc
3 bd
4 cd
& abd

40 Which of the following are characteristics of ordinary shares?

&3 Hore  coiihad o owillokie ke Bee LR3lnges D0 @ SrddemNe o 2 :r{);\ﬂ
a.- | The liability of the ordinary shareholder is limited to the amount of capital which
shareholder contributed to the business
b.~ | The sharehoider has no certainty that the money paid for the shares will be refun
¢+~ | Ordinary shares in a listed company are tradeable on the stock exchange

dv | A business has no legal obligation to reward ordinary shareholders in the forr;

¢ dividends Py A 22
1 cd
12 abc
3 abd
4 ac
) abcd

41 Which of the following statements on business loans are correct?
Interest payments are deductible for tax purposes
The fixed interest obligations increase the risk inherent in the business to its ow
The priority claims of ioans in the case of liquidation increase the risk inherent ir
business to its owners

Loans do not dilute the earnings of ordinary shares

1 bd
2 abc
3 abcd
4 cd

5 bc

; ;
o T 4
AETO8 s

PR Rttt S s A

7
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edit 42 You are given the following information on the cost of capital of ABC Co Ltd:

Owners’ equity 20% ~  R1400000 - ¢ -
Preference sharg capital 10% R 300 000 Cle it Dl
Long-term debt {after tax) 9% = R 500000

Use the information to calculate the company’s weighted éverage cost of capital.

18,50%
16,13%
20,08%
23,20%

AWy —

43 Operations management in the business is important for which of the following reasons?

It can improve productivity

[t can help the business to satisfy the needs of its clients more effectively
It can be decisive for the general reputation of the business

it will ensure financial success for the business

the

Q0 T w

ded

agec
ahd
cd
ba
abcd

n ot

O M e

44 Which three of the following resources are transformed into cutputs in the transformation
process?

Material
Customers
Personnel
Information

O o U o

1ers
the

How N
T
Q QO OO
00ao

ERI [TURN OVERI
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45 Match the operations management guideline in Column A with the corresponding
result in Column B. T Adgi
Column A Column B
(Qperations (Positive result)
management guideline)
a Do things right the first time (i) Lower variability
o Do things cost effectively _— \&(n) Higher quality
c Do things fast (i) Lower cost
d Change things quickly ~ ‘“’“\A(iv) Shorter lead time
e Do things right every time/ 4 (v) Greater adaptability
a1 - (ii) b - (iii) c - (iv) d-(v) e - (i)
2 a- (@ b - (ii) c - (iii) d - {iv) e-(v)
3 a - (iii) b - (ii) c - (i) d- (iv)- e-(v)
4 a-(iv) b - (i) c - (ii) d-(v) e - (iii)
5 a-(v) b - (iv) ¢ - (iii) d - (ii) e - (i)
46 Which of the following statements are correct concerning the classification of ope
\;f*“} “pracesses in manufacturing businesses?
DASar ¢ e j_ﬂ fedden me om ¢ -
a Project systems represent operations processes whrch are highly rndw dt al
b Jobbing systems normally represent operations processes conducted o1
gncl] scale il (o0 ML Sudpad
¢ | Continuous or repetitive systems represent operations systems in which the
aa8sy volume is high
d Job-lot systems are a combination of a repetitive system and a jobbing sysi
21| M e eeled Dems ase f’% A% :
’ 1 ab Sendnl A soumsa @b :«- ri%u,ﬁr‘,u; o
2 abcd Foyeee &pplemn
3 ac
4 bcd
5 ad
47 Which of the following characteristics .are correct with regard to the service v
hairdressing salon renders’P
S W o T R
5 ngh Client Contact o
b Short response time
c Labour intensive
d SmaH service provrsron facility
-3 s Y o TNt E 24 o VesAEDs
o aBUES >
< \:f:*’( ekl ;,‘;%‘ SEe
;_:j Lo, T8 \3\0 ase TS
L hoeth & v eseenh SRR e
v . AAnckan RO R
gy \esss §ESTET G
v, C},Lx;ifs.;gfﬁ_ A
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the following characteristics is wrong concerning products that are
5 against services provided?

T, Aoy

£

tangible

Low client contact

Long resg

onse time

Capital intensive

Q0O T Q

O o -

nol

Sifting prg
Evaluatior
Preliminai
Idea/conc
Prototype

ac
d 4
cb
be
e b

N3
o bW \f}/)) -

The fixed
size, shap
The proce
The prod
consecutiy
The cellul
particular

ad
bc
ab
ac
ab

ne
s in the designing of products and services in the correct order.

cess %
nand improvement . -
'y design 3

ept generation
design =

bed N
cbe

aed

dac

adc

lowing statements concerning the basic layout types in the design of
sses are correct?

position layout is used where the product cannot be shifted because of its
e or location

ss layout is used where similar operations are grouped together in sections
uct layout is used where the different operations are arranged in
ve order

ar layout is used where certain processes are placed in a cell and the

cell then arranged according to either a process or a product layout
5304,

cd

d

d
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.|determines how long it will take a trained worker to perform a specific task at a
\/"*c Kok
\
Method study

Work study

Work measurement

Which of the following statements on total quality management (TQM) are correct?

[§ee)
The responsibility for quality is confined only to the operations management fur

Quality is one of the main elements for adding value to products/services
Quality is one of the main elements in obtaining a long-term competitive adva
over competitors

d |- Better quality influences income and cost

1 ab
2 abc
3 bd
4 bcd

Which performance standards are generally used to measure operational improven

(OB o NI & Jgi]

Wh

Haoo oo

£
‘:‘ﬂ e

Historical standards

Target performance standards

The performance standards of competitors
Absolute performance standards

The performance of suppliers

1 ace

2 abde
@ abcd
4 bde

5 abcde

hich of the following failures are typical failures. occurring in operations processe

Facility failures
Design failures
Staff failures

Customer/chent failures P
z% W f_,, \}i T

‘1 ab

@?* abcd

3 bcd

4 ad

[TURN
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1 Strategig
2) Marlfetm
3 Tactical
4 Operatio
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Which one of the following is not a purchasing management function?

1 Suppliet]
3 Delivery
4 Quality

Which one of th

Which of the fo

Purchasi

AnH
1A TN
A

selection

Materials handling

e following levels is not part of purchasing planning?

level % 250
V

g level

evel

ns level

lowing are typical purchasing activities?

ng and negotiation

Follow-up and expediting

2 LAdentor

mb@m-—ﬁ
O T O MW

q

Which of the fol

a
b
C Administration
d
g

v X Mg
;_\} \”r\‘”vifﬂ’-‘—a,{“b")'

Purchasing research

fgnj . . o
IR K “a:k P Teladvo Q&uiﬁ%‘f Ve 3 Jﬁfvg\uiﬁ&‘
H IR

D d
bcd

i
L

)

owing factors will determine the status of the purchasing function?

a The situation in the supplier market
b The size pf the business
c The nature of the material or products purchased
d The perception of top management
o e
1 abc -
2 abd
3 abcd
4 b d
5 cq
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ich of the following are criteria for gauging the effectiveness of the executio
chasmg actlvmes? -

Pnce proﬂmency o
Supplier satisfaction ¢ M
Timeliness

Cost saving

Purchasmg costs

W ioand

®J F Rt ‘ ot

cde %
2 bcd
3 ab
4 abcde

R Yok 08 )
34:7‘3‘(“«',\ t\n\‘ \

ch of the following are subpolicies of the purchasing policy?

Policy in respect of ethical purchasing practices
Policy in respect of internal purchasing matters
Production policy

Supplier policy

1 abc
2 bcd
3  bd

4 abd

ntify the three main factors in each purchasing decision.

The quality of the item

The supplier service provided
The price of the item

The specifications of the item

acd
abd
abc
bcd

HwWwnNo -

ich inventory control system would a grocery store normally use?

“‘J“v CJ %‘
System of fixed order quantities v
Cyclical ordering system

Materials requirements planning system

[TURN(
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=

The steps in thg purchasing cycle can be divided into cértain main categories. Identify these
categories. %z St
a The notification phase
b The order phase
c The postorder phase
d The paying phase as.  adoded
i) ape
2 apd
3 cd
4 apcd
Match the steps|in the purchasing cycle in column A with the appropriate document (column
B) required for the step. ENGES
Column A Column B
(Steps) (Documents)
(a) Development and description of need (i) Cheque

(b) Issuing the @
(c) Paying for th

rder
e order

(i) Requisition
(i) Specifications

(d) Closing the order (iv) Proof of receipt
1 a- (i) b - (ii) c - (ii) d - (iv)
2 a - (iv) b- () c - (ii) d - (i)
3 a - (iii) b - (i) c- (i) d - (iv)
3:4/ a - (ii) b - (iii) c - (iv) d - (i)
Which of the following statements on determining quality as a purchasing activity are
correct?
a Specification may be used in the description of quality
b Quality dpes not influence inventory holding
c Inspection is the task of the purchasing department
d Standard|sation of products and their quality increase competition in the market
l abc :
2} ad
3 bagd
4 abcd

[TURN OVER]
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66 Which of the following are the main policies that affect the scheduling of purchas:
a Purchasing according to needs D e
4 Advance purchasing
g Speculative purchasing
o Minimum purchases
g -Unscheduled purchases
1 abcde
2 abcd
3 abc
4 bcde
5 bde
67 In which of the following basic ways may productivity improvement be achieved?
g » A greater output may be achieved through a greater input
b~ A greater output may be achieved through an equivalent input
g +~ The same output may be achieved through a smaller input
d .~ Agreater output may be achieved through more inputs, but the marginal inc
woeren | 10 OUtput will be greater than the marginal increase in input
1 ab c
2. bd
@ bcd
4 acd
5 abcd
68 Which one of the following statements is a misconception of productivity improve
i? @%"k@
Rroductivity improvement .....
1 is a lengthy, ongoing process
\2; is equated with harder work or longer working hours -
3 benefits both employers and employees
4 will lead to an increase in the number of job opportunities
69 Which one of the following statements regarding economic growth is wrong?
1 The higher the level of employment, the higher will economic growth be
2 Economic growth will cause unemployment to decline
@j Economic growth does not depend on curbing the population growth rate
4 Economic growth will cause higher living standards
[TUR?
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70 Which one of the [following actions should the government avoid in attempting to influence
productivity improvement positively?

1 The creatipn of training facilities

"@ General increase of tax rates to provide the required funds
3
4

Productivity improvement which supports wage and salary increases
Making training subsidies available
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